Income Tax (proportional, progressive, regressive)

Preliminary remarks

o Normally, income taxes are progressive.

o Normally, tax rates are fixed within brackets of income. Here, we assume that rates can be changed continually due to changing incomes.
o Abbreviations: AT = Average tax rate, MT = Marginal tax rate, TT = Total tax (paid by a taxpayer)
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The tax rate is constant and independent of
income:

o AT and MT are constant.

o TT rises in proportion to income.

The tax rate is dependent on income (higher

income — higher tax rate):

o AT and MT rise.

o TT rises, too (higher income — higher
TT).

The tax rate is dependent on income (higher

income — lower tax rate):

o AT and MT fall.

o TT rises (higher income — higher TT)
until MT = 0, then falls (higher income —
lower TT)

INCOMTAX.DOC

30/05/2016




